	No
	Atom Type
	Neighbours
	Meaning
	Example

	1
	B
	HN2
	HBN2
	Bis(butylamino)borane

	7
	B
	CO2
	CBO2
	Phenyl dimethoxyborine

	21
	B
	O3
	BO3
	Triethoxyborine

	25
	B(-)
	C4
	BC4-
	tetracyanoborate

	152
	C(-) sp3
	C3
	C-C-(C)-C
	tricyanomethanide

	245
	C aromatic
	H:C:N(+)
	C:CH:N+
	C2 in pyridinium

	272
	C(+) aromatic
	H:N2
	N:C+(H):N
	C2 in imidazolium

	280
	C sp
	C#N(-)
	N#C-C-
	tricyanomethanide

	290
	C sp
	N#N(-)
	N#C-N-
	dicyanoamide

	295
	C sp
	=N=S(-)
	N=C=S-
	Thiocyanate

	316
	N sp3
	HSi2
	HNSi2
	Bis(trimethoxysilyl)amine

	352
	N(+) sp3
	C4
	NC4+
	tetraalkylammonium

	359
	N(+) sp2
	O2=O(-)
	NO3-
	nitrate

	363
	N aromatic
	C2:C(+)
	C-N(C):C+
	N1 in 1-alkylimidazolium

	365
	N(+) aromatic
	C:C2
	C:N+(C):C
	N in 1-alkylpyridinium

	370
	N(-)
	C2
	C-N--C
	dicyanoamide

	398
	O
	CSi
	COSi
	Bis(trimethoxysilyl)amine

	502
	S4
	CO=O2(-)
	C-SO3-
	Methylsulfonate

	512
	S4
	O2=O2(-)
	SO4-
	hydrosulfate

	533
	Si
	C3O
	C3SiO
	Methoxytrimethylsilane

	539
	Si
	C2N2
	C2SiN2
	Diethyldiisothiocyanatosilane

	554
	Si
	NO3
	NSiO3
	Bis(trimethoxysilyl)amine


